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( A ) 1. 780 millimeters equal to how many centimeter ?

(A) 78 (B) 780 (C)7800 (D) 78000

RN« BEE ¢ 780 BAENRE/AD 1 /AD=10 XK ' 780 BXK=78 D

( B ) 2. There are 2587 mangos, eight mangos loaded into a box. Finally, how
many mango will be left?

(A)O (B)3 (C)5 (D)9
BRAT : B5= - B 2587 TR S8 EEN—F ' KRB ERTZDE
2587+8=323---3 .". ® 3 §8

( D )3. Please calculate 74x268= ?
(A) 19652  (B) 19742

(C)19802 (D) 19832
BT - BYEE ¢

55518 74x268= 7 74x268=19832

( A )4 IBIHF S 9001 TEIBEATEY) KBS 4108 ;2B » BRI TN2DIT <
(A) 4893 (B) 4892 (C) 4802 (D) 4902
24T : 9001—-4108=4893 JT

( C )5 stgit 12

m]

/ 8 9 10
13 13 A 13 ) 13 © 13 (D) 13
g 21 12_9
13 13 13
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( C )e6. BEBEPAKIVNEEZMEIESFE <
(A) 10 & (B) 11 1@
(©)121 (D)131@

BRMT + L 943=12 1@

( D )7. CBHERSD  SE=BIERDLE <

(A) g (B) Z (©) g (D) g
BRI - D LBIHH 8 B/ =& :
@ BES53E .. 3+8:§

( B )8. |[BSEELNFHEGFZEDTEE 240 7t @ |BISHFHEERBDITHIF1%
BEEE T (A)1430 (B)1440 (C)1450 (D) 1460

BEMT : 240x6=1440 TT

( D )9. KB 624 RIB&RF » =460\ D 228 5k » Nix#G/)\E 195 5& » KHER

TAERBE&FT <
(A) 50 (B) 100 (C) 150 (D) 200

BT : (D 624 KH)R 600 0 228 AH#I= 200 » 195 AH)2 200 :

@ .". 600—200—200=200 3

L) skt

(A)5607  (B)5617  (C)5670  (D)5671

BT : 5x1000+6x100+7x1=5607 JT
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( D )11 ﬂ?—?‘l‘ﬁﬁm » REDZ/MENEFBEER » RE T NS HEGEIKEF 18

b

(A) 14 (B) 15 (C) 16 (D) 18

R : 3x6=18 {@/)\B

( B )12. BB BARESIDHLAD <
(A)28  (B)30  (C)32  (D)34

4cm

BRAT : 7T+2+4+4+442+7=30 7D

( C )13 ®E—INE 2D RBEREIRERIBE 7 8 SBEEREE PR
218 ABIESED <
(A) 11 (B) 26 (C) 28 (D) 30

BRAT : 2x7=14 > 2x14=28

N
(0.9)
49
SZS

( D )14 W8 —EBECEERIEAER BBEIC Ay

MHEE SEAD <
(A)448 (B)476 (C)504  (D)532

AR : 28%19=532 D

( D )15 BEME 8B 5B LEF3EEHA - 28 5 6 BT 3i5RtRESL -

HICB T8\ <
(A) 28 (B) 30 (C) 32 (D) 36

BT () 8B5B8F 24-3=21/)\F: 2@ 886 HTNF 30 B 15 )\ :

3 21+15=36 /)\BF
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( B )1l6. TBIPEEHNEEES D g7
(A) 2509 (B) 300g

2 900+3=300 \572

(C) 180g (D) 220g Z:l
M+ D 1/23fT=1000 252 * 1000—100=900 53 :
( A )17. TER)BAESEHEBX :
| @G
" @ &) E,
ﬂ;l,ﬁ

40 45 45 50 20 20 35 15

v 77U v 7 T 7L TU

[IEE 35 2 Bigz2aF0 4 Beinsekd » HBENIDIT
(A) 290 (B) 295 (C) 300 (D)305 TG

BRHT : 45x24+50%x4=90+200=290 JT

( D )18. B7°4°9°0°5 8 HERE U P » FAREF &/ BEEZSD <
(A) 534951 (B)576981 (C)578142 (D)581751

BEMT : ;2K : 987540 &/J)) : 405789 » 1= : 987540—405789=581751

( C )19. BE8ME L 7 BHREGEENSHISI  FZEEFEERTF 1
b5 - SBRHERRE REESTZDE <
(A) 150° (B) 170° (C) 180° (D) 190°

BT : D TF 105=130F» 13—7=6" BFEE 6 A& : @ 30° x6=180°
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) 20. =AZ ABC REEB=BF > £A=70°" Bl . B OUJRERHE
(A) 30° (B) 50° (C) 55° (D) 80°

O 2A 2B » 2B=(180-70)+2=55 & :

Q@ +ARER Bl .BOUBEBEER  £B=70 % :

® AREKRB ' «BOEEIER » £B=180—70x2=40 & :

S..BOBER40E 55E 70 E

) 21. FLILPRE—BE > 33IREE 2 ~ 4 ~ 5 BFEPLIRABEVEN - ABEARRH

HEDD ? E1HE SEoH E3H E4HE BsE
1 2 4 8 16
3 3 5 9 17
5 6 6 10 )
7 7 7 11
9 10 12 12
11 11 : :
17
(A) 26 (B) 27 (C) 28 (D) 29

2+8+16=26

) 22. —8I55%)E 50 f8 » RRFEATDIERE - PTLIZEICS 6 %8> ®T
BURENEEW D » SENB=IE 4 88 F T EIS= DB DT » BEAH

REI30 A - BEAETEEa ATUb A » BB a+b=
(A) 28 (B) 29 (C) 30 (D) 18

O 50ALE 125102550 50-6=44 :

Q@ 4480VREHBE 1241122 44> 44—-4=40 :

Q 408VREHHE1-2-4-5-8-10~20"40:
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@ AZZE 40 IREN > (BNBER 50 3 44 BVRE > FTLAZAETS 8 AT 20 A :
(5 a+b=8+20=28

( C )23 BERBEFHNIL 1911 ME0ETFH - HIU - KB 80 & FEiTilE
80+1911=1991 F » SHEREFIT 2015 F * FE ML _1ESD <
(1] E—TR (IR) FHESRIRHRE I
(2] IBEEHFRE 4
(3] #A%&1N0 L 20
(4] B3l 25
(5] EEEINEHENLL ]
(6] RB—ELTR > FHEBEHEREIMR (IR) BENI—IGTE
RAEM (R B—E={IENHF  E—EHZEIR (W) F
HESRIROURE NI - B TIRIMEMR (IR) OEREE !
(A)1715  (B)1615  (C)1515 (D) 1415
AT - DIESRISREB (IR x =
(4x+20)x25+ [ 1=100x+2015 » 100x+500+[ ] =100x+2015

500+ 1=2015° [ 1=1515

( A )24. 308 - BCEF B¥1TM:ER - =A ABC 2—1@
EB=A'BCR8ALD'ACRT7TAD ' EX
D ERELL =B ADH BVEEX 12 A0
K HCHIRE -
(A5  (B)4s513D (C)6nm  (D)5.5071D
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BRHT : atb=c+12 * a+b+d=c+d+12°
BCEF B &=BA8/AABC+12=8x7+2+12=40 >

BCxHC=40 » 8xHC=40 > HC=5 73

( B )25 {49 RBEME—ZBUR B & ARERENA - 5T 37 REZEZL

LRE: BPRI5R  JFI0E R 12E - BEDBBIDVERET

(A) 4 (B)5 (C)6
BT : D WRPI1E o BI6E:RIILE =

Q UEPFZ2E o> PI7TE :RIZ108 =

Q URFZIE > PIBR:RIPIR > F21F ' BIBEAR

=
8B
@ URPZL4E > HI19E : RZ8E = N 20 » BIFARES
]

(D) 7
A 23 & » PR

=
8B
RN 22 2 BIFAEE

G URPZE5E > H20E:  RI7E = R19E» HIFEEE
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_ - EEE (& 251)
1. B1EBRFME: S5 R BF+EXK0OLEFH 92.3 A0 » B 0O N 40.6 A
o RB=KTRE  BTEBEEE&SND T

BT - 5 2R=500 A7
=X REE =
92.3+92.3492.3—-40.6—40.6=276.9—40.6—40.6=195.7 A3
500—195.7=304.3 ‘A

= 304.3 D

2 BB CENEELEA - N

i

Y

B BB EE - WA 1418
- N/
MIE=A » 2 ABXE - 8 18 B/¢
Z{B=f - M ABCHE - 418 yﬁ(G

E=fEK 0@
hE=/& - 018

JME=BH > 20 ABCDEH 4§ : 4 {&
TI@=/H » W0 ABCDEFG 8 : 4 1@
B 14+8+4+4+4=34 8

53418
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